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General Instructions :

L. The question paper comprises of two Sections; A and B. You are to attempt both the
sections.

2. All questions are compulsory

3. All questions of Section-A and all questions of Section-B are to be attempted separately.

4. Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence

3. Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

6. Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each :

7. Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each.

8. Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.
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9, Question numbers 34 to 36 in Section-B are questinns based on practical skills are two
marks questions.

HIT-31 / SECTION-A

1 T AT @1 A fefEu gt v E TR il Uk €H 6 et w0 A wiwd w1 )
Name the cells which transmit the stimulus very rapidly from one place to another within the

body,

2 i@ e freer ATER s fedl e W geal § T U W safed s e s g e
Croil Ay
A heavy person experiences more sideways push when a moving vehicle turns suddenly.
Why ?

3 e & W i (G) @ S1 g fafed

Write the SI unit of the Universal Gravitation constant (G).
a aii wA Al 3 (e #7177 A & ofza gern Rt
Compare the rate of diffusion of liquids and solids with reason.

g sttt sii % drg o S 9 S T g s e e g

Name the tissue present between internal organs, Whatare its functions ?

6 =0 FR 1 GREE A S T ¥ o F 10 s § U fAa S ¥ 1 9% % g S
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Find the initial velocity of a car which is stopped in 10 s by applying brakes. The negative

Jeceleration due to brakes is 2.5 ms
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(a) Tyndall effect can be ol:;sorwd when sunfight pellsses through a canopy of dense forest.
Explain it :

(b) Give any two examples of colloids. '

8 E‘lmvﬁﬁaeﬁa:ﬁqwa’rgwaﬂﬁ%ﬁﬁmﬁmﬁaﬁhﬁmmaﬂwﬁaﬁﬂm@| 3

Draw a labeled diagram of the apparatus used to separate a mixture of two miscible liquids.

9 e 1 d srEwensl w1 e v gy AeEfEtem wfred @it 3
(a) =@ (b)  TrfrgHd (o) dte

By taking mto account the three'states of the matter comment on the following :

(a) ngidity (b) compressibility (€) fluidity

10 uwaifvels qu sgmifimm sl § 4 fmad o o afes 2 6 ) st #0907 w00 e 3
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Out of unicellular and multicellular organisms, which one would you expect to be more

efficient? Give reason. Give two example of unicellular organism.
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(a) Name the elements that make up the phloem tissue.
(b) Which of these elements is responsible for transportation ?
(¢)  Which of these elements is dead ?
12 &0t Ao fawemen & ) sl 1 el wnirag ) A W aw wae 0 e e # 7 3

List two differences in tabular form between distance and displacement. When is a body said
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to have uniform motion ?
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(a)  TTE BT @E 1 TH gl aE e ?
(b)  uedl g a4 ) g g ?
() 141 4 1 foroen favamms sfus 37 - :

A cow and a bird both travelled trom point “A” to point “B”. The cow travelled in a straight
line but the bird travelled along the curved path as shown below :

L8
G 1) B
Am

N

(a) What is the distance travelled by- the cow ?

(b) Whal is the distance travelled by the bird ?
(c) Which one of them has more displacement ?
14 (a) A9 zwiy e Av-waa WE F FREE wer st fa wmi e # 3
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(a) Which type of motion is re}.‘lresented by the velocity-time graph shown

below 2

A i e i3
e
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(b)  Name the physical quantity which can be calculated by the area of rectangle OABC,

(c) What does the straight line AB represents ?

Mohan along with his schoolmates goes on a camel safari. They travel 3 km north, then 3 km
castand then 1 km north again. Draw the path along which they are moving. What distance

di liu-‘\, vover 2 Whal is their displacement
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Obtain an expression for acceleration due to gravity and justify that all objects hollow or solid, big or
small fall from a height at the same rate in vacyum.
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(i) 0 3 U D e AR B e 2w R A W afg F Al s W
TFEA R .
Dinesh had been cultivating a crop year after year in the same plot of field and the yield was
getting, reduced He consulted the local Agricultural scientist and then by tollowing his

advice he got back the yield.

(i) What practice did Dinesh follow ?
(i) What possibly had been advised by Agricultural Scientist ?

(i)  Can you suggest two more techniques which can be adopted to  increase the yield ?

5

18 TTITAR T uftarn fafaw ) hae WO9WE g R TR A fafiel i el wmed) w3
R s fore v urn s s @ 7
Define Weeds. List two ways by which they affect the crops. How weeds can be controlled?

i (] AN A A 3ETA Al 21 A ey w1 S s | 5
(b) o107 Bfter StEm @ 2 s<mw <ifsie i arsdiewon o s sies o ) sen & 6
(a) Evaporation causes cooling. Comment upon this statement.

(b)  Give two examples from daily life that illustrate evaporation causes cooling,

20 fFferfaa o | iifaer wd Tt viadq #1 vear #if . 5
(a) olg ol aan Gewt yEEy ¥ o = e w3
{I; ik rm‘nn A |
(<) Siel H qHE &1 el g
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Identity the physical and chemical changes from the following-

(a) Heating the mixture of iron and sulphur.
(b) Ripening of fruits

(c) Dissolution of salt in water

(d) Rusting of iron-chair.

(e) Making egg omelets

21 A1 21 T AR ) g i

il dF T FEHR (Eﬁﬁ;qﬂ) e T
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Complete the following table :

TYPE OF [ CELLS (LIVING MAIN

EXAMPLE | TISSUE
" |mssue | DEAD) FUNCTION

| Husk  of |

coconul

(1)

In leal stalk
(2) | below the
‘epidermis
22 (a) AN Ham F FrE T Secha Hiee .

(b) 3Tk o = =geasl ity |

(€) 100 kg FoTM T TF SR 1 AT HHA &L A Feld g 25 W 5m/s § 8my/s G SR A

% Tgel 91 918 & Tam iR i |
(a)  State law of conservation of momentum
(b) Derive an expression for it '

(c) An object of mass 100 kg is aLLeierated uniformly from a velocity 5m/s to 8m/s in 2s.
Calculate the initial and final momentum of the object.
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(a) A train 100 m long is moving with a constant velocity of 60 kmh 1. Find the time it

3
lakes Lo cross the 'l‘n'idk;e 1km ]011?,_

{b) The slope of the line on a pmmon-nme graph I'LVLalh information about an object’s
velocity. What conclusion can you draw rtgardmg the motion or an object, if the

graphisa:
(i) horizontal line.
(i) straight diagonal line.

(i)  curved line. : E,

24 wyparera 1 afedrn fafae ) ga 3 a@ oyl # SEen ® F e e S A §F @l @ s
far@r=rm it |

Define animal husbandry ? Discuss the feeding, breeding and controlling the diseases of cattie

poputation in dairy farming,

W[T-&/ SECTION - B
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The sample which will give positive result for the expenment of testing of metanil yellow in
arhar dal is :

r S r.'..'.._,;'.'] [._ e .-:1 f R
! | I | i
! ! : .’ f Crushed
! e | | . potato
loa 1, Crushél I.........j ‘\(‘“lﬁ\,\’ dal ’. ) I':]a ;—' il f
: \.-: iy :3 ":1’ cong hydrochloric :;Eé “‘l’i lHow dal I . lodine
L ! “"E‘;:':‘ g > ﬂé-} solution
= dil hydrochlaoric acid
s st (I (1 rndine (1Vy
d solution
(a) 1 by 1 -
() 111 {Li) v

26 TETET wElEEse % we § dufed aa d . : 1

(a) A A (by el
(v)  FgedH (d) el

Glycogen is a stored form of carbohydrates foundin :
(a)  cereals (b)  pulses
. () - animals : () fruits

%
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Mohit dissolved a mixture of iron filings and sulphur in carbon disulphide, in a clean test
tube e observed that the colour of solution becomes :

fa) ey (b) red : () black (d) vellow

28 HlAA SEHERES # add W el gieg- waa frae Tm 1

a9 § & FEFeEaewsEes

(a) fawpees ) (b) aAerTERRE B

(¢)  THCIE T (d)  Hewew R

Following safety symbol appears on the bottle of Carbon disulf:-hi-.ie :
|

| W N i 8 _

| e ELER :
s means that carbon disulphide is ‘ I

() eaplosive (b) oxidising
() flammable (d)" | corrosive

29 TR #l P e F R o A i wi g mfammwmasm et =@ & o 1

eI
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(a)  FIR 4TS (b)  SUH SRS
(c) TR ToE (d) m‘maﬁﬁtﬁf

On placing iron nail in copper sulphate solution the colour of solution changes from blue to

grecn. Lhe green colour of solution’is due to formation of.

(a) copper oxide (b) iron oxide
(¢) ™ iron sulphate (d)  copper chloride
30 wiHd mel Iy wed [u/and #edt & = 1
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Cheek cells are alwavs moist because :
(a) They are placed in water

(b)  They are animal cells

() Saliva is present in the mouth .f 2
(1) I s the characteristic of cheek cells :

31 i @1 @ sifurfera frd) ST T R T UY0 UE % e s gerch aen el 1 WY fEmE 2 @ - 1
(a) TEd (b) ot

() @&&ah (d) e
When stained appropriately, the muscle which shows alternate light and dark bands is :
(@)  striated (b)  smooth

() Cardiac (u1) I.mE_ilTi&IilEd

' t
32 w AT X F, X a1 U T e ferien S T 8w @ o fus @ e &ty 1
g1 Yo foran o €1 X & wehan '
(a) qrafygn denEs (b) EiEl|
(\) A i () s FANEE
[ he separation method sublimation is used to separate a compound "X’ from its mixture of ‘X’
and a non sublime salt. X can be

(Ei) - “"Potassium chloride (b) Sugar
(<) Iron Filling () Ammonium Chloride
33 Pererrraren # fopedl A% W o0 T el BN 1
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Netlorce acting on a body at restis '

(a) 2010 .(b) depends on mass

i) Jepends onats weight (d) all of the above

39 W A A qugAfdd ®W: A, B, C @ D 8 AR W ailsn uger, si2 s Uesid, w2
YRSl ddl el uEEt g = swwEafed - d ue eed % 9% srEEledl # YedH
At e, fHorad qw wielize @ w9 A7 @ifag)

Rima look hine chalk powder, egg albumin, starch powder and alum powder in four test tubes

A, B Cand D respectively. After adding water to all the four test tubes, identify the test tubes
as true solution, suspension and colloid.. *

+

35 Sel @l gaUAE e R & T e o v F fafvs siawel o ammE Gl @ @ fau 2
Trm F oW wie ata § 0 | 105 Mo @ dE 20 wm EL @ = am w s o
FIf oy

e an experiment to determine the l‘)(‘;ilialg point of water, the stop watch used to nole down
the temperature of water at ditlerent intervals of time has 20 divisions between 0 to 10s marks.
Find the least count of the stop watch,

36 mEoan ol frafRen w o rene Sy Rt faen den s smvilaa A & gy Rewfmen 2
i g s fRvfRen g sawfie se w1 ufaviad afeefea sifau

A student recorded the mass of dry raisins as 3g and the mass of raisins after soaking in water
as 4.8g. Calculate the percentage of water absorbed by raisins. |
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